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O ot==XelAIZe SEEXY IIEdAsx sHX0AM 1S E£6tD) ¢=0Isl E
S E&ot= Jl= Mg

O ot=Xeld glldastx sdAZFH €505, 2 & 25 HMH-A-S222H RE
AES 226t g5+E HHsS TZotes Ji=s HE

O otrHeld =SHEXL SIIEAastXo sdil SCE2RH S HMA-A-S2EZM
2II252 UAl =SS ¢S 2 MAE /e SEHNE MEEct=s Jl=He

O ot=HXcld 8J)ld43tx scNZ2FH 3l s MU EblZ2 HESotes Jl=
N

O HEEESX0AN R0t 8 RII=50 S BIEAA HASHY HAEsS It

O BZXL glldAsty, sdAgtSxz ¢=20lsd E RIS ¢S xote S
g1t 3l+=8 & HEEsS YE=s It

O BE8Al J 3ot XM2lAZ0 ?IXIg Pilot plantz2 2=0ls, & RIISEHA IS
HSAIIIL =HXN0A Ol NS sleole A72E A

. A2 1

= Jl=2 XM= BOD 10mg/L0l

10.0mg/£013t, T-P 0.2mg/40|5tE Ct=ot= ot2 DT X2l JI==2N &=
=Xl $JF= JIENT HE0| Jts8 JI=0ICh EIOLAIZ0l X0 A=
S3otMeld2 MeldE Lo Mot
40,000€/2 + &4 25,0008/2) #29 © =

HelZol fIXI8 Pilot plantil M 20128 9& 2 H 20128 11E A 2F 302t
20l 2UE= BAK EF29 YRE plantd U2 AISOIRUCH RS
RILLEE2E == BOD 105.4mg/4, CODy, 54.7mg/4, SS 93.8 mg/L0|AU2H,
33.2mg/L, T-P= 2.87mg/l2 ZEAZIRULCH |2 SHISIH2 0.43kg-BOD/m°-d),
C/NBISl 22 EZ CODn/T-NHl= 1.65(1.25-1.95), MBS Xl £2|sHE XS A2t
7.16hr2t,  SJ[X9 DO=  3.15mg/¢, F/MHl= T-BOD/MLSSIIE2=Z
0.147(0.013-0.183), DIMESXIF A2l SRT= MLSSIIE2 2 19day: 2MOIUCH A
EPSx0 FAEXE HA ELF19 s£E 2Y BOD= 9.8mg/I2 HMlEE8
90.6%(88.4~92.0), COD2 6.3mg/IZ2 Hlg&2 90.8%(85.6~90.7), SS= 7.5mg/
£ HMas282 90.2%(87.6~92.3), T-N2 9.9mg/I2 XM2lE&82 69.9%(65.8~73.1),
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T-P= 0.3mg/I2 HMel&8& 89.7%(87.8~90.7)2 HHEE8=2 =Z2JULH HUXZE HA
gZ0 +H=5EE EH BOD= 6.3mg/ | 2 94.0(92.3~94.8)%, CODm2 5.0mg/I2

Helgge E& 93.4% (87.0~93.4), SS= 4.5mg/I2 XM2EE2 95.2%(93.5~96.6),
T-N& 9.2mg/I2 XHMels82 72.2%(69.5~75.9), T-P= 0.19mg/I2 HelE8&
93.3%(92.2~94.6)21 HMHEES 2L

sd X S-CODJt 4.89mg/LOIIA 90.3mg/L2 SJItotd P& == 1.39mg/LOIA
4.51mg/L2 BIoIRALER AL £l 4SWUS SZU S0t WHIZ LS AIHA

AMESE = AU =L,
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HE  Itor I 04374 =2 18
(0.248Kw/2 1 MANS DHE ES 273,343Kw/dayll 8™
JIB(72&38/Kw)2 2 BHatetH 17,0888 & /yr0l 22510 CO.= 100,010kg/yr
AL

O MolE=2 AEAl JIE2 MB&H XHlSgol ol COD= 1.3mg/LIHAEZE AME
St Mol 2 1.3mg/Le CODItF HHNME)I 2AEHN LB (COD)2 2 7.8
kg/day(2,847kg/yr)2l ZASIE LI}

O 2F0lsdt ZEs 50%% AEst S=EX0HAM 212 MAHEZ2 90%, S&E ML it
220152 3+280] 80%z H2t LM 6,302,800 /yr
- #3|22/yr = 3,000m/day x 0.00257kg/m*(MIH8t= Q12/2) x 2.0g-Fe/g—P x

0.8(314=8) x 365day = 4,502kg/yr

O L20Is1 E2 50%% AL o222 E2M2 6,302,800 /yr

O 2 34+=80| 80%Y &< : 165,600&/yr &

O 2 3+=80| 80% Z=2 HMAHE elo &2 50&/dayll & =XI0 25t =H Xt
8000mg/Le [, 210l 4.52mg/L0l ZLA3t2Z 122 HIISHKXIt 0.71kg/day &4
g [e & 396mg/day2 Q10| LMSHTY

olo] 2F = 396mg/day x 0.8(8l%=8) x 365day=115g/yr x 6000&/50&
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O 445 ABY U 29 A4T0 & FHXS XY HLOZ 08 A+T MAYIE
H2AH2 1,874,730% /day 0122 =2} 684,276,45022 H2LE + AUS
- 6000m%/day ©f Gt4E MOIS4E AIBE I ALUMSL 0437, 42ER3

- AL MARZ BZ = 6,000m% x ALUHMED 0437 x 715&/m®
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